30

W T U o waqmy
General Knowledge ang Other Skillg

(Q-Nos. 1 to 50

1. BWW%A,DWW%C,B%}W%E,AWD“?Té%,?ﬁEW C ¥ =1 fwan

¢ 2
je G
LN (B) el
S w1}
® ©) D) it
N b . |
A P/I e brothex:_ of Ef, C is the father qf D, E is the mother of B, A and D are .
@ brn@ers. What is the relation of C with E ?
8 | ]
\ (A) \ Sister (B) . Sister-in-law

B
DD R i (o Niece ‘_@) Wife
2. 3WNF 3 IW fGwn B 3R To T oY fFar 30 HieX Ie & 915 9% 39 Rl TR
1 3R 40 WX =&l | g: & T TR g1 AR 30 Hex el | 79 77 AR T

¥ ot W ¢ 2
| (A) 50 HIX B) 40T
(C) +30HIX (D) 20 TR

Ashok started to move in the direction of north. After moving 30m, he turned to

his left and moved 40 m. Again he turned to his left and moved 30m. Now how

far is he from the starting point ? W
(A) 50m ® 40m O €
<« 30m D 2om

 [RE-sT-608
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3. ol Wikl s o 4R CHAIR Y 53260 qur EAR 1 729 fe@r =g, at HEAR

o

! Y o s

(A) 3792 (B) 3729

(C) 3972 (D) . 3929
3 A

If gls'lf’aCI{R is coded in a symbolic language as 53269 and EAR as 729, then how

will HEAR be coded ? _ 31z
(A) 3792 - By . 3729
(© 3972 (D) 3929

I{T%'#%T35{93'1'x",'—-'EﬁT3:[2{[_'1»'3%_{'}('3‘“'312%":"3%'3}

S X4 6
5+4-18 + 3 FHI :
¥ 4~ 18 + 3 HH §m IR
- (=
B 26 B). 14
(C) -34 D] 6
If'+' mcans ' x ', ' — ' means "+ ' and ' x ' means ' + ', what will be the value of

o+4-18+37

(A) 26 . (B) 14
€ -34 (D) 6
frfefaa ged & o« o3 Ht 76 ST
49
? 1 64
25 -1
16 1 *4
9
(A) 35 (B) 41

(_ler 36 D) 40
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Find the missing character in the following question :

49
? 1 64
25 1
16 | s
9
(&) 35 B) 41
(C) 36 (D) 40

2 ARA | 'GIE1 SET @ e Ry ad gg ot 2

W 1947 | B) 1948

(C) 1950 (D) 1951

In which year was the 'Planning Commission' set up in India ?

(A) 1947 | (B) 1948

(€) 1950 (D) 1951
o it A & i foten <ol i @ 2

(A) Ca(OClcl (B) Na(OC])Cl

(C) CaCOy (D) KMnO,

Which of the following is chemical formula of Bleaching Powder ?

(A) Ca(oC)hCl (B) Na (OCl) Cl
(C) CaCOj ' (D) KMnO, Y
................... emseeg) b it s oun s pn s LaEE 4}
| 74258 ] Ses B [RE-5T-608 4/ %

Scanned with CamScanner



207

Presifiae 3 & ey vt s 9t i ey e &5 0 3 = e & 2
() T B Vo et wem (B) WHo TNFWH
(C) % WK (D) EEFT A FeH AT

National Education Day is celebrated on the birthday of

(A) A. P. J. Abdul Kalam (B) S. Radhakrishnan
e
(C) Rajcndra Prasad (D) Maulana Abul Kalam Azad

FE Y TN WA ¥ Rwan) ol w5 g & 2
a) 2 - B) 8

(C) | 10 (D) . 16
The binary system of computer uses powers of

(A) 2 B) 8

r

(C) 10 (D) 16

it 9 Rt srelta foom et e a1 4 e 3 2
(A) U SRS (B) I RS

(C) HIYTET TRIZS (D) UTH SEAFERS
Which of the following aqueus solutions will turn blue litmus to red P
(A)  Copper oxide (B)  Iron oxide

(C) Magnesium oxide (D)  Sulphur dioxide

Scanned with CamScanner
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1. frefefen d @ s W e wghm w9 @ el difi iy

———

e ————

-

TRUIMEEY 241 ¥ 3 el &l & 2
@ e | B) AREH S
© T TReERE (D) FARIFRIHTEA

Which of the following pollutant gases is not produced both naturally and as :

~ result of industrial activity ?

(A) Mcthanc | ‘ (B) ° Nitrous oxide =
(C) © Carbon dioxide (D) Chlorofluorocarbon
12, ‘'Orfea’ a0 & Tdi & Yoy & feT STEeT S 9 arett faftg € 2
(A)  Afa¥RTEt s B) g a=
(C) T<dE T (D) GOl a=d
'Synetics' is the method used for catering to which category of children ?
(A) Gifted children (B} Backward children "
L(/(,‘,)/ : Rctardcd children -~ (D) Creative children 7
13, TR 2@ e @ E 2
A) TF B) ¥
© AR (D) =
‘Where is situated the capital of Myanmar ?
(A) Rangoon ¥ . (B) Y_an goon
(C)  Naypyitaw (D) Burma

SERMRITARRRRE R R FE T T TT T EE S ittt 4 T T T T R T T T T L L L L L LT L LI TTTTTTLITT LI E
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AT IRT & Ul YReAIG TR -5 9

(A) - T R | (B) Hlo TSGR

€ g=R A . (D) e 3Ro anﬂm

The [irst Indian Governor-General of independent India was

(A) Rajendra Prasad (B) C. Rajagopalachari

(C) Surinder Nath (D) B. R. Ambedkar

HETCHT TiTHY ST TRT 37ie fhg feg e an 2

(A) HiaTg 3rae <t (B) et HeTgYl I WHE FHEH -

(€) &R &l JRex 1 R D) fog w1 U @A

Mahatma Gandhi's Champaran Movement was for whicb of the following ?
- (A) Civil disobedience movement |

(B) Solving the problems of indige workers

(C) The security rights of Harijans

(D) Maintaining the unity of Hindu Society

a9 wuma fawm dEmelt & siad YOH @@ & Uh-faers ¥ 12 U &) =

E

i

(A) 15 B) 17 | ‘
D

first of these numbers. What is the last of the three numbers ? 5 &\ = &
(A) 15 \E"/ 17 'f%

a2 sLi \
(C) 19 (D) none of these X L . }”,'3) \
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17.

18.

19.

[ 74268 ] Set-B

®. 7,500 ® A, B3 cF i frr w1 Ak AR B E R S5 0%
3T A ¥ ik B 3R ¢ 6 72 13 F @ § &, @l B H b1 A1 g3 2
(A} ¥. 1,400 (B) ¥. 3,500
(C) ¥. 2,600 ; (D) €. 7,000

Rs. 7,500 is to be divided among 4, B and C such that A's share to B's share is
_____--"'
in the ratio 5 : 2 and B 's share to C's share is.in the ratio 7 : 13. How much

will B receive ?

)A} Rs. 1,400 : (B) Rs. 3,500

(C]  Rs. 2,600 D)  Rs. 7,000
forelt =t o1 faerot 42 3 &1 gW @t w1 Faeor @ @i fogenr dswer, wun ait
% &% HT S R 2

(A)  8J2 |Hl B) 16 ¥
(C) 32 | | (D) 8 uH

The diagonal of a square is 442 cm. The diagonal of another square whose area

is double that of the first square is

(A) 8J2 cm : {B)  16cm

€ 32 cml (D) 8cm

100 HieX w=ll ¥eme 30 frdt/ser o7t ot | w1 W ¥ o TREH | @2
=feh & UR H H @ Y (Jsvg ) B

() 10 ' | B) 11

€ 12 (D) 15

A train 100 m long is running at g speed of 30 km/hr. The time (in second) in

which it passes a man standing on the railway platform is

0 B) 11

Ay 1
{y 12 D) 15

RE-ST.608
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21

24,

..........

1 "
(4) 2 B) —

- (A) 1932 Adufrge (B) 1935 @I Afufwm

----------------------------------- T T T LT T T P P e T LY T TS

[ 74268 | Set-B

207

A% 0 YT =T HIT ¥ 3R 3 (sec20 + tan20) = 5 ¥, A cos 20 FT AT T @ ?

J3

2

1
C —_ :
© 7 | P 1

If 0 is positive acute angle and 3 (sec2p + tan20) = 5, then the value .of cos 20 is

(A) % e (B) -‘(2-5-

(©) 71_5 - B )

fFrfefaa = @ gt wam mfvetg Rugek o viaes & w9 § 5 e s 2

() =fa wifean i ®) vm '

(© e SrdsiEEEe D W

Which of the following is not usc'_d as a coolant in a nuclear reactor ? ‘
(A)  Liquid sodium metal (B)  Water

(C)  Carbon dioxide gas (D) * Heavy water

m?ﬂaumﬁwnaﬁﬁtrfﬁfaﬁﬁ@ﬁ#aﬁ:ﬁw%aﬁa%mwm?

(C) . 1936 W1 fufram (D) 1947 =1 AfgfTan ‘

The Provincial Governments were constituted under the Act of

(A) 1932 (B) 1935

(C) 1936 | (D) 1947

|

War w0l PR
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23, fava % fre 5 @ fag 2w 999 3UF Higen SeqRA @ ¥ 2
W <o T SR

(A)  HRA : (B)
(C) == R (D) 4

The highel,st coal-producing cou;ltl'y in the world is in whicl-l of the following ?
(A)  India R (B) | USA

(C) China ' (D) - Russia

24, aﬁaﬁmq&ﬁmﬂmﬂvwﬁmmﬁmimﬁaﬁaﬁmﬁmm

SR &
(A) Eﬁwﬁiﬁ g B) . fermer 7 e |
(© s & wguT . | (D) I Harg H fae

By

Amritsar and Shimla are almost on the same latitude, but their climate
difference is due to
(A) their distance from sea (B)  snowfall in Shimla

(C)  pollution in Amritsar {[3)/’ the difference in their altitudes

25. W‘Wﬁmﬁmﬁ?mﬁqm%?
() . e . (B) A

(©) | 3vd e FgEee (D) . TwGde

Who is the constitutional head of the State Governments ?

(C)  Judge of High Court (D)  Governor /

[ 74268 ] Set-B | — o el s
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ﬁw@aﬁmwmmw%aﬁ;aﬂﬁ@wmwm@ﬂﬁ%l
1 ¥ Siet e s © ?

(A) 32 (B) 64

() 16 (D) 1024

The product of two positive integers is 2048 and'orrle of them is twice the other.
Then the smaller of the numbers is |

) 32 @ 64

C) 16 : - (D) 1024

Ak J3=1.732 Rarmare, z’_’g HAA TR ?

(A) 11.732 . (B) 13.928

(C) 12.928 /[,D) 13.925
L 2+43 .

If ﬁ ~1.732 is given, then the value of J; is

(A)  11.732 (B) 13.928

(C) 12.928 (D) 13.925

3t Ealt w1 Agad gAIEe 1820 T TERH GHITA 26 &1 A% Th & 130
¥, ot gE) G B -

(A) 70 (B) 1690

(C) <364 (D) 1264

The LCM of two numbers is 1820 énd their HCF is 26. If one number is 130,

then the other number is

(A) 70 - (B) 1690

(C) 364 D) 1264

11 / 48

"""_"im-sr:ggs Y
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29.

30.

31.

ferdlt Team & 09, 120 &, A 39 W& F 120% T BT 2

A 20 - | (B) 120

(C) 480 ' D) 720
If 120 is 20% of:a number, then 120% of that number will be -
A) 20 ' B 120 A

(C) 480 )pr 720

A AN G 20%, 10% 3R 5% & A Geh! Tehel GHIeT I 41

A) 31.6% (B) 31.5%

C) 31% . YD) 314 %

If the successive discounts are given as 20%, 10% and 5%, then the single

cquivalent discount is

(A 31.6% Nl B) 31.5%,

© 31% _ R 0 siav

e 2019 F SR 467 T Hhee WS AT T F s F
g ? 1

(A) Y ST , (B) Wi perpol

(€ = W i £ . (D) Eﬁﬁaﬁ?qﬁ

Who is the winner of 46th National Women Chess Champion.ship title, held o
July 2019 ? | |
(A) Pratyusha Bodda ~A (B) Bhakti ulkarni «

(C) Surabhi Verma (D) None of them

e
wsr
--------------------------------------
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FaEr H, 9R % IR €
T e - @) 3w fagem
© o Frmamg i (D) w A
At present the Vice-President of Indiais - ||
(A)  Nitin Gadkari 4 (ﬁ) Om Birla
(C) M.Venkaiah Naidu _~ (D) None of them

o’ (et el 3l et @1 T i v TG vee) e s S

a3 fwar man ?

(A) . 22 3FT, 2019 (B) 90 3T, 2018,
(C) 2 3R, 2019 D) T ¥ I A

The National Initiative for School Heads' anleeachers‘-Holistic Advancement

(NISHTHA) teachcrs' training programme was launched on

(A)  August 22, 2019 (B) August 22, 2018 ~
J,S:} October 2, 2019 | (D) . None of these

frvg 4% ¥ @R Tolee S IR, 2018 T TR S svieHeEn H WRA W

(A) e (B) - Hrasi
(€) drEq ey (D) TR FR R
According to World Bank, l'which position is taken by India, _a_.l_n_-:)_ﬁg the largest

cconomy in the Global GDP Ranking, 2018 ?

) Fifth  (B) Seventh

© Third | (D) None of these ' :
st e AT, 2010 & 9w F RAE e 31 %%, 2019 & U fear ?

W TR @) T OreRa R

(© o FEER ) wEIE
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36.

a7.

Who has submitteq the report fOI‘ Draft of National Education Policy,
May 31, 2019 ?

2019 o

(A)  Narendra Modi (B)  Ramesh Pokhriyal Nishank

(€) K. Kasturirangan (D)  None of them

‘ ﬁ%ﬁﬂﬁﬁ_ﬁmﬁﬁw—mﬁmwﬁﬁm%wwaﬂw?

BXF, DVI, FTL, HRO, ? ’5?

(A) JoL ' (B) KPM
(C) KPL (D) JPR
. /s

Which option will take place of (?] in the following letter pattern ?

BXF, DVI, F'I‘L HRO, ?

(A) JOL : (B) KPM

©  KPL _ 9 (D) JPR

ﬁ%@mmﬁmﬁﬁ(?;%wmwm?
0 Qq b

A7 100, 64, ?, 16, 4

(A) .49 (B) 25

© 36
o

Which number will take place of (?)in the following serieé ?

(D) 63

144, 100, 64, ? , 16, 4

(A) 49




38.

. 39.

- 40.

oy & 7T ﬁ@ﬁrﬁ%ﬂﬁfﬂ‘lﬁ% A0S

@ 9 . ® 12
© 15 - D) 30

How many triangles are there in the following figure ?

/T IE\

W -9 B) 12

(C) 15 | : (D) 30

‘w‘wmﬁmﬁﬁaﬁ_wwﬁm@aﬁﬁ@aﬁ%ﬁm%&aﬁmm

= 7 |
() TR SR T B el
(C) R . (D) .-sH

If 'Rajd;mt’ is coded as-'Car', 'Car’ as 'Aeroplane’, 'Aeroplane’ as "I_‘Egiin', 'Train' as

-

207

'‘Bus', then by which vchiéle can you reach your destination in least time ?

5T?Q

(A)  Aecroplane . (B) Train /

(C) Car _ (D) Bus

fd) Qidfaw o § A% BLADE I SPTFA fef@r <, @ 3§ 3THR W BALE 1
wre FA ? | |
SN STPA  (B) TSAP

(C) STAP (D) TSPA

Scanned with CamScanner
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If BLADE is coded in a symboli¢ language as SPTFA, then how will BALE be

coded ?
(A) - STPA . (B) TSAP
(C) sTAP '. (D) ITSPA'

41. W@ﬁa‘ﬁmaﬂﬁﬁm%@?@oé}omwmw%?
B TR Wi a9 LB e e

(€ e faifet =i (D) T Wi s

What is the full form of USB as used in computer related activities ?

(A)  United Serial Bus (B)  Ultra Security Block

(C)  Universal Seeurity Block },D)’ Universal Serial Bus
42. Tﬁtﬁ-swfa?mﬁﬁraﬁganm ?

A)  1930F o 'N®) 10318

© 19327 D) 19337F

Gandhi-Irwin Pact took place in

(A) 1930 : (B) 1931
@ 1932 g b (D) 1933
43. ﬂﬂ?ﬂﬂmﬂﬁﬁﬁ?%ﬁﬁaﬁqﬁ?lf |
(A) I TR fereren @ I T
(). T HER | D) TR

Who was the father of Indiap Renaissance ? |
(A) Bal Gangadhar Tilak

(B) . Raja Rammohan Roy ¥4 |

(C) Swami Shraddhananda .

(D) . Dayanand Saraswati

oooooooooooooooo
----------------------------------------------------------------------------------------------------------------------------------------------
.......

[ 74268 ] Set-B | RE-ST-608 i 16 / 48
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44. -Qﬁﬁﬂifﬁﬁﬁﬁaﬁ%ﬁﬁa%wmt? _
&) 1.551 feeidie | B)  1.852 feiiiex
(©) 2;012 %a'hﬂzt : (D)  1.644 fFeley
One nautical mile is equal to
(A} ~ 1.551km ' © (B)i. 1.852km -
(C) 2.012km (D) -1644km
45.  ORA FY AT F TF A0S F wEh 99 4 2
.‘{A) foe wfoet B o =
(€) aﬁﬁﬁz T (D) HFRE 9=)
Who was the Prime Minister of England at the ti'me when lxlaclia got
independence ?
(A) Winston Churchill [B)r Tony Blair
(C). Clement Attlee . ' (D) Margaret Thatcher .
46. Wﬁﬁmwﬁmww%Mﬁw% ?
(A) DT 45 | - (B) 3T 30 (1)
- (C) aﬁéln (D) WY 15 (1)
" Which article of the Constitution of India is related to the Right to Edqcaﬁon ?
(A)  Article 45 (B)  Article 30(1) <
€ Aricle21A D) Article 15(1)
[74268]8“]! .............................................. RE-STeos ;17/48
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126 WEH' § e g g IR @ 90 & 2

47,
@ TR | B) T
© SR R
For which word, has the letter 'G' been used in '2G spectrum’?
(A)  Government i (B) G]L)ba]
(C)  Generation / 4 (D)  Google
48, ﬂmamaamwmmw R 2
(&) o s (B)  3FeifiTeh S
©) i o D S
Mendel's principle of inheritance is based on |
(A) | sexual reprqductipn p (B)  asexual reproduction
(C) vcgelatwe reproduction (D) all of these.
49, nﬁ%ﬁwﬁqmmwf@aﬁmaﬁmmm%a :
A S® (B) o
(C) ‘T”T (D)  ¥mEr
Which component of plants receivés stimulus for flowering ?
(A) - Roots | (B) Stems
(€ _Leavcs (D)  Branches
50, I AW 1wy hw ar<em Q2 o
(A) TR | B) TawmHe
© i@ D e
‘Do or Die' is associated with the movement
(A) Non-cooperation . (B)  Khilafat
(€} Dandi (D)  QuitIndia
[7426818“3 .............................................

...........
.......................................................
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T gri

COMPUTER SCIENCE
( Q-Nos. 51 to 150)

51. ﬁmﬁf@ﬁﬁﬁaﬁ:{wmﬁ:mm% ?

(A) Word Perfect (B) Easy Word
() MSWord | D) - {
Which of the following is/ are word pm(-:essing software ? ‘ !
(A) Word Perfect _ | (B) Easy Word 4
€ MS Word ' (D) All of these |
s cpp 1/0 STRTA B F AT EH s ¥et EEel 1 ST HE AMfel |

To perform I /O operations in CPP, we must USE .o header file.

(A)  <iostream.h> 7 (B) . <string.h>
© <mathh> ‘D) <stdioh> - \

53, "Ctrl+ NI &

(A) . Save Document . (B) Open Document i

(C) Creatc New Document (D)  Close Document : , ‘

Ctrl + N is used to

(A)  Save Document (B) Open Document

(C) '~ Create New Document (D)  Close Document

54 - CPP IS Bl eeveerrens I‘lﬁﬁﬁﬁﬂ?ﬂ%!

CPP keywords are also called

- T

(A) preprocessor (B) punctuation symbols

(D)  reserve words

-------------------------------------------------------------------------------------------------------

nen
.............
--------------------------------------------------------------------

[ 74268 ] Set-B | RE-ST-608
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(a)

(€

55. ¥ H Cross mfemnceﬁmﬁﬂmm% ?

Placcholders (B)

Objects (D)

Bookmarks _~

Word fields

What are inserted as cross-reference in Word ?

(A)

- (©)

Placeholders (B)

Objects (D)

56. frefeifad § @ s17 ge fowe faeed Tl € 2

(A)

(C) .

‘Next Page (B)

Odd Page i (D)

Bookmarks

Word fields

Previous Page

Even Page

Which of the following is not the Scection Break Option ?

(A)

(C)

Next Page - ~ (B)

Odd Page | : (D).

57. DBMS &1 Q1 99 &

(A)  Databasc Management System
(B) Databasel Master System |
(C) Databas:c- Management Structure
(D) 3§ HIg AL
DBMS stands fox-'
(A)  Databasc Management Systclm /
(B) Database Master System
(C) Databasc Management Structyre
(D) Nonclof these

Previous Page

Even Page
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58. fgﬁﬁﬂﬁ,%ﬂqﬂﬂﬁﬂﬁﬁ@mqﬁﬁﬁ
(A) On first page (B) On alternate page
(C) I. On cvery page (D) gqﬁ | EOH T
By dcfault, on which page the header or the footer is printed ?
(A) On first page | B On alternate 'page
(C) Onevery page o (D) None of these.
59. f= | ﬁ*/% Eﬁ frg operatqrﬁ EeCee| aﬁla? t[é?ﬂ% 7 .
@ ® /
) % (p) @ bl FE veul
Which opcratér has highest ﬁrccédcnce in*/%?
a " | ®
Cc) % = (D)  All have same precedence
60. "Curl+GHT ¢
Ctrl + G cxecutes
(A) Open Paragraph Dialog box .activating Goto Tab
(B) Open Page Setup Dialog box activ._rating Goto Tab (
(C) Open Find and Replacc Dialog box with a;.crtivating Goto Tab v
(ﬁ) Open tho Dialog box |
o e AeTd | e #E ?

‘What is a Firewall in Computer Network ?

() The physical boundary pf Network A

(B)  An opcrating system of Computer Network ¥

d to prevent unauthorized access 4

(C) A system designe
(D) Awcb browsing Software
21 / 48

[ 74268 | Set-B
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62. IETF W & SXaast Fgeld €
The [ETF standards of documents are called
'(A)  RFC (B) RCF 5
© 1D - (D)  None of these
63. Serial Communication link 9 22T Wit & & fer feh e S&1 HAR Fgfe i1
UG BT & 7 |
(A)  Simplex (B) Half-duplex
(C) Fuli-duplcx (D]l g:rﬁr ¥ gt
Which data communication method is used to transmit the data over a serial
communication link ? _
(A} Simplex (B) Half-duplex
(C) Full-duplex (D) _ ~All of thcse/
64. IP Uhe oI AeH 2eT SHR FT & 2
What is the minimum header size of an IP packet ?
(A) 16 bytes =3 (B) 10 bytes
(C) 20 bytes \ (D) 32 bytes
65. U I &I T TFd T T@el &
Routing table of a router keeps track of
~{A) MAC Address Assignments
(B)  Port Assignments to network devices
(C) Distributed IP addresses to network devices ,
(D). Routes to use for forwarding data to its destination
" 66. ﬁlﬂ%lf@ﬁﬁﬁaﬁﬁmaﬁmm@ﬁqﬁﬁ ’
Which of the following is not External Security Threats ?
(A) Front-door Threats ' . (B) Back-door Threats
(C) Undcyground Threats (D)  Denial of Service (DoS)
[74263]53t3 ....................... RE-ST.Gog .......... 2 2/43
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67. APIPA &I [P 9al YOR 1 ¢ ?

What is the IP Address range of APIp -
(A)  169.254.0.1 to 169.254.0.254 .
(B)  169.254.0.1 to 169.254.0.255
(C) 169.254.0.1 to 169.254.255 254
(D) ~ 169.254.0.1 to 169.254.255.255
68. fAfefEd W @ w221 fafma & Yawfyg o =61 ¢ ?
Which gf the folldwing ié not the possible ways of data exchange ?
(A) Simplex (B)  Multiplex
(C) Half-duplex (D) Full-duplex ¥
69. HHAX mwﬁ%aﬁamﬁmﬁm%aﬁa%ﬂmwwwm%

The rnanagcmcnt of data flow ‘bctween computcrs or devu:es or between nodes

in a network is called
(A)  Flow control ' (B) Data Control ./
(C) Data Managcr.ncrit | (D) Flow Management
70.  TCP FaH H, T o et FAfe A E 2
(A) It specifies the communication proces_é. oﬁ the two-end systems
(B) | It_specifies the quality of the data & cchnection
(C) it spccifics the size of data
(D) @
What does the port number in a TCP connection specify ?
(A) It specifics the communication process on the two-end systems
(B) It specifies the quality of the data & connection
(C) Tt specifies the size of data

(D) Allof these. -

---------------------------------------------------------------------------------

RE-ST-608
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------------------------------------------------
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CRAE @ s e e b
(A)  Array i (B)  Struct
(C)  Boolean 8 : (D) Int
........ s is a basic data lypc..l '
(A) Array TP | (B) Sﬁuct
(C)  Boolean y D) Int A

72,

73.

74,

(C)

wmﬁm¢mmmmm$mmmww
ﬁFﬂTﬁTFﬁﬁT%7

(A) Slider Timing . - : (i3) . Slide_r Timer

(C)  Rehcarsal | N Slide Shiow. Sétap.

Whicﬁ option can be used to set custom .timing for slides in a presentation ?
(A)  Slider Timing ¥ (B)  Slider Timer

(C) Rchearsal - , (D) . Slide Show Setup .

Sfteera f AT & UF Module & =X TR feham ST Hehell €, 3 Fel ¢
Variables which can be accessed inside a module of the program is called
(A)  Global - - (B) Auto

(C) Static ; - (D) Local J

mﬁ%ﬁ%ﬁmﬁﬂwmm% ?

Which key can be used to' view shde show ?

(A)  F5 ‘ B) F2 7

F7 ' (D) F8

gt
e
......
....................................................... -
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75. Character 4T text data ! GU&Iq T F fF[E E—ﬁ eI Bt &
To store character or text data we need
(A)  numeric variable - (B) string variable .~
(C)  logical function (D) array

76. ¥ U TS ¥ T W UG T ¢
[Tow can we stop a slide show ? |
(A)  Press the right arrow E ﬂ':';] Press Ctrl+A
€ Press Escape B (D)  Press Ctrl+S |

77.  Power Point, MS-office ¥ Frafafeg te-3 SRdad @ FF @ <A Fﬂﬁm EQ
T & ?
(A) Organization Chart (B) Photo Album
(C) Equation Editor | = | aedt
pPower Point can display data from which of the following add-in software of MS
office ? i
(A)  Organization Chart J/ j (B) Photo Album
(C) Equation Editor P) All of these

?8. ............. ff?j[ q spelling AR spelling W e i et fopam =1 Fexcl ¢!
The spcl'lin g dialog box can be involved by choosing spelling from ............
menu. .
(A)  Tools (B View
e B (D) Insert

79. o e e 3 T O S g 2

Which onc is a primary key in a bank customer table ?
(B) Admission numberl

(A) UID number
PAN

Account number /
i T

-----
--------------
------------------------------------------------------------
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80.

5

=, B2,

83.

84.

Power Point slide & ¥l &

Power Point slide can have |

(A)

(C)

title, text, graphs

clipart, drawn art, visual :
g H fohdt st W e fders T

Right clicking on something in word

{ﬁ) deletes the object
(B)
(C)  opens the short-cut list
(D) inserts the picture |
>=8TH

_ (A) instance
(€ datatype -

>=1s a/an

(A)

(C)

instancce

data type

Autocorrect tool %

The autocorrect tool

(A)

(B)

(C)

(D) -

(B)
pz{] any of these

(B)

D)

(B)
(D)

drawn objects, shapes

'is nothing but the right mouse button is there for left handed people

‘design

operator

design

operator

provides statistics about your document

displays words with the same or similar meaning

checks the grammar in the document "

checks for misspelled words as you type and correct them as deﬁny

Ush class T & G encapsulated FGFQT ST & 7

(A)

Program & Process

File and Disk

(B)

Function and Data

~ Variable and Constant

it
------

oooooooooooooo
.............................................................................................................................................
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Which is encapsulated in a class ?

(A)  Program & Process (8)  Function ﬁnd D;fa -
(€] Fileand Disk (D)  Variable and Constant
g5. Word ST H, Hyperlink WitS WafYm %t % 10 30 ga &t &
(A) . Curl + Shift+ F9 key (B) Shift+ FOkey
(C)  Ctrl + Alt key D) T HI T
To display hyperlink field in a Word document, you can press the
| (A) Ctrl + Shift + F9 key . (B) - Shift + F9 key -~
(©)  Ctrl + Alt key (D)  none of these
86. ﬁﬁrﬁﬁﬁ?@f\bstract@am%? . |
(A)  class (B) double
© int (D) string
Which is an Abstract data type ?
(A)  class & | @y double
(C) int (D)  string
87. maﬁmmmmﬁﬁﬁﬂm“ﬁmmm
button '

(A) Click the remove/ duplicate
(B) First highlight the text and click the Copy or Cut command from edit
menu

(C) | Click on File menu

o) T A @

'To cut or copy text you must first

Click the remove/ duplicate button

(A)
t the text and click the Co

(B) First highligh

py or Cut command from edit

- menu

(C) Clickon File menu

...........................................................

(D) None of these

-------
e
--------
----------
--------------------------------------------------
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88.  SRITHH % fow b a Wl € 7

(A)  Animal to Cat

(C)  Lock to key

(B)

(D)

Which is correct for inheritance ?

(A) Animal to Cat

(C)  Lock to key

(B)

(D)

89. SHIS Cross reference IUAH 3

(A) View menu

(C) Insert menu

The command Cross reference is available in

(A) Vicw menu S

(C) Insert menu

(B)

(D)

(B)

(D)

90. %ﬂ"rmwmmtﬁﬁamw%

| (A) Data type

(C) Attribute

(B)

(D)

Column or Field/oLa table is called

(A) Data type
(C) - Attribute
91. TCP/IP® T&
| (A) Network Hardware

(C) Protocol

TCP/IP is a

(A) Network Hardware

(C)  Protocol

-----------------------------------------------------------------------------------------------------------------------------------------------------------------

[ 74268 ] Set-B

(B)

(D)

(B)
(D)

Variable to constant

Data to Program

Variable to constant

' a to Program
Dgt LTogram

Format menu

Tools menu

Format menu

Tools menu

Row name

Entity name

Row name

Entity name -

“Network Software

i @ i

Network Software

None of these

o
an
----------
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O8I stands for

(A)  Open Soft ID

\f\

(B) Open System ID %

(C} Open System lntcrconnéction :
(D)
3T g6 ®9 ¥ 5 il &1 et 9@ 2

(B)
(D) | '

Open Source Information

93.

ARPA
NSA

)
©

207

NSF

;ﬂﬁﬁﬁéqﬁ

The Internet was originally a project of which agency ?

(B)

(A) ARPA L

NSA (D)

94.
HTML is used to create

(A) machine language program

(B) high level program

(C) web page -

(D) web scrver
puter jargon wwww, St

95, AN E
fi
The com ands for

World Wide Web Worm _~
n's. Web (D)
do7 ) ET A &

() World Wide Wome
e dearee & e T A q&

page/main page !

96,
s called

A website's front

(B)

(A) Browser Page

----------------
-----------------------------------------------

[ 74268 | Set-B

NSF

None of these

World Wide Wildlife Web

World Wide Women's Week

Search Page

Bookmark
Ve, 20 / 48
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97.  HTML &1 @1 &9 &

Full form of HTML is
(A)  Hyper Text Markup Language Tk
(IBJ Hyper Text Mapipulation Language
'tC) Hyper Text Managing Links
(D-) Hyper Text Mam'pulaﬁﬂg Links
98. Cmﬁputer Network %’
(A) Collection of hardware componenfs and computers
(B) Intcrconﬁected by communication channels
(C)  Sharing ;)f resources and infofmatioﬁ
(D) F F wed | '*
Computer Network is
(A) Collection of hardware components and computers
(B) | Inte;:'ccnnected by communication channels

(C)  Sharing of resources and information

(D)  All of these

¢
99. WilHie & ;

(A) " Agreements on how communication’ components and DTEs are ¢

communicate

(B)  Logical communication channels for transferring data

(C)  Physical communication channels used for transferring data
(D) T q FIY T&l

............................................................................................
........
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Prolocols are

(A) Agreements on how communijcation components and DTEs are to

communicate’ /

(B) Logical communication channels for transferring data
(C) Physical communication channels used for transferring data

(D)  None of these

l00. 3 feee ek 4 ¥, TR

(A) a process in one device is able to exchange information with a process in

another device
(B) a process is running.on both devices
(Ci PIDs of the processes running of different devices are same
o FEARE
Two devices are in network if

(A) a process in one device is able to exchange information with a process in

another device
(B) a process is running on both devices

(C)  PIDs of the processes running of different devices are same _

(D)  none of these

fm.-wqmamachDWfﬂfm Waﬁrma\hmﬁcﬁ@awm
ITINT HATE ?

(A} Dot matrix printer (B)  Digital plotter
(C) Linec printer D) T I |l
........................ : uuu-....................u..“....u.n----n---EE...uo-..............---,---n'..........u.........-.u.....-uuu.....----...“-.u-.-".-u.-pn.-
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102.

.103.

104.

.............

-----------------------------------------------------------------------------
---------

[ 74268 | Set-B

A high quality CAD system uses which of the following for printing, drawing ang

graphs ?
(A)  Dotmatrix printer =~ (B) Digital plotter
(C)  Line printer ' (D)  All of these

Pt 3 % 9 gz fearwa 1 & 2
Which of the following .is not an input device ?
(A) OCR |

(B) Oplical‘scanners'

(C)  Voice recognition device

(D) COM (Computer Output to Microfilm) / /

'W$ﬁ16ﬁzmﬁwﬁﬁnwmaﬁaﬁmm%maﬂnﬁﬁﬁam

& ST
& I6diet N"B) 6 digits
(C) 9 digits (D) Fifi q wt

The accuracy of the ﬂoatmg—pomt numbers representable In two 16-bit words of

a computcr is approximately

(A) 16 digits. - " (B) 6 digits

(C)  9digits (D) all of these
TF CPU T@dl &

(A)  acard reader and a printing device

(B) an analytical engine and a control unit
(C)  acontrol unit and an arithmetic logic unit

(D) an arithmetic logic unit and a carg reader

........
.................................................................................

32 / 48
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A CP'U contains
(A)  acard rcader and a printing device
(B)  an analytical engine and a control unit
(C) a control unit and a;n arithmetic logic unit (/

(D) an arithmetic logic unit and a card reader

105. 3TgeHeT IBM Uil H, cpu,m@m,ﬁﬁﬁﬁﬂﬁﬁzaﬂtwmﬁ
U & SIS W AT ST €| T S B AN F e 2

(A)  Motherboard ~ (B) Breadboard

(C) Daughtcr board (D) Grandmother board

In most IBM PCs, the CPU, thc device: dr}ves, memory expansxon slots and

active componcnts are mountcd on a smgle board What is the ‘name of this

board ?

: (A} Motherboard _~ - (B) Breadboard

- (C) Daughter board (D) Grandmothcr board

106. qmmﬂ feter g Sy e ¥
| (A) Direct access .
(€ ¥ | A (D)

netic disks are the most popular medium for
(B)  Sequential access -~

(B) Sequential access

T | His Tl

Mag

(A) Direct access
(D) None of these

, _[C] Both of these l. ~ : | | ﬁmﬁ
107. mmwﬁ@@mﬁfﬁ@mﬂfﬂﬂﬂﬁ%ﬁwﬁz@q

¥ foru Iya ferar ST €, T 3 |
i technique used by codes to convert an analog signal into a digital bit stream

is known as |
: B Pulse stretcher
(A) Pulse code modulation - (B) s

(D) Queue management

(C) Query processing

....................
----------------------------------------------------------
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108, TF VDU ¥ TR |, Fi-ar FU 0w Tl ¥ ?

Regarding a VDU, which statement is more correct ?

It is an input device

(A) I is an output device / (B)

(C)  Itis a peripheral device (D) It is hardware item

100. T Mg SR S U CHl el & e Heer ¢

(A)  Doing quick mathematicai calculations
(ﬁ) Input, storage, manipulation and outputting of data

(C) Elcctronic data processing |

. (D}_ Pcrforrhing repetitive fasks accurately
A modcrn clectronic computer is a machine th?.t is meant for
(A) Doing quick mathemétical calclulations
(B) Input, storage, manipulation and outputting of data __—
(C)  Elcctronic data processing

N D] Pcrforminé repctitiv.;c _;asks accurately

110. Vacuum & &l 3fasht he 31 91 ?

When was vacuum tube invented ?

(A) 1900 : (B) 1906
© 1910w - (D) 1880
111, TEedl gl & G § TR 8 Ao qEF TRt aed o
(A) Transistors ~ (B) Vacuum Tubes and Valves

(C) -Inlegrated Circuits | (D) ?,T-I'e[ g ﬁé T-lﬁ

The main electronic component used in first generation computers was
(A)  Transistors g - . (B) Vacuum Tubes and Valves

(C)  Integrated Circuits (D) None ol these

n
&
------------------------------------------------------------------------------------------------------------------------------------------------------
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112. T% dumb terminal &
A dumb terminal has
(A) an cmbedded microprocessor

(B)  extensive memory

(C)  indcpendent processing capability -
(D)  a keyboard and screen

113. Uch millisecond %

One millisecond is

(A) 1 sccond (B 10thofasecond 1

(C)  1000th of a second (D) . 10000th of a second

114, Iy e Tgd fovermeia & ol o Ll ﬁ%l

(A) Fast (B) . Powerful

(C) Infallible | (D) Cheap

Modern computers are very reliable but they are not

(A) Fast (B) Powerful

(C) Infallible (D) Cheap ./

115. Frefafaa 3 @ S 91 T fas 3899 el HEe 9@ 2
(B) ENIAC

D) IR

(A “ABC
(C) EDVAC

Which of the following was a special purpose computer ?

(A) ABC . (B) ENIAC
(C) EDVAC (D) All of these
..................................................... VRN IR T U SRR s (o .
'II [74268 ] Set-B ‘ RE-ST-608 . 35 / 48

Scanned with CamScanner



207

116.

117.

SMPS &1 Tae &

SMPS stands for
(A) _ Switched Modce Power SUPPIY / _

(B)  Start Mode Power Supply 7Q‘
(C)  Store Mode Power Su pply i

(D)  Single Mode Powcr Supply

mm%f@ﬁﬁﬁﬁ?m@h%maﬁmwﬁéawﬁwmﬁ ?

(A) Flc')ppy Disk ' | (B) Hard Disk

(C)  Compact Disk : (D) Magneto-optic Disk

Which of the following storage devices can store maximum amount of data ?

(A} Floppy Disk .. (B) Hard Disk =,

118.

119.

........................................
.....

(C)  Compact Disk - (D) Magneto -optic Disk -

1973ﬁmwﬁmzﬁwﬁmmwwmmﬁéﬁﬁé€aﬁ
3 & fear o 2

(A) ENIAC (B) MARKI
C z3 G (D) ABC

Which c,omputer was consn.iered the first electronic computer untll 1973 when

court invalidated the patent ?

(A) ENIAC X

| (B)  MARKI
il 23 (D)  ABC
HIEHITAER A9t 3k HThiehgey : '
CAF A & 3= it & ¥ U%h Physical connection &l
(A)  Path : - _
(B Ad
i s ) dress bus

(D) %9 ¥ g

-----
-------------------
LLT LT

. [ 7A2AR 1 Cas T . LITTTIN ! k
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A physical conncet;
ction betwee
; tween the .
the microcomputer 5 i icroprocessor memory and other parts of
(A)  Path

_ (B) - Address bus
(C) Routc

(D) ' All of these
........ vreeer. ST B TR FT AT € |

double sided floppy disks could store
(A) 140MB X

High density,

(B) 1.44GB
(©) " 1.40GB
121. mwﬁa‘\a&aﬁmoﬁtmmﬁ

You can auto fit the width of column by

(A)  double clicking' on the column name on column header
- (B) double clicking on the cell pointer in worksheet
(C)  double clicking on column right border on column header =l

(D)  double clicking on the column left border of column header

122. MS USRI Fill Serics ST a7 3 U1 % forg fewiee 7 ....... S A ¥
MS Excel p;'ovidcs the default value ............ for step in Fill Series dialolg box.
N 0 ODF | ARG g
© i L e amyiao
123, TR H, Curl + D WEHE N
I (A) oﬁcn the font dialog box
(B) apply double underline for the active cell
(C) . fill down in the selection
D) ¥ A FE A |
”426313“-3 ............................................. St-608] .8 NEEEE o e 37,'43
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- : ill
Ctrl + D shortcut key 11 Excel W1

(A]  open the font dialog bo*:
(B) apply double underling for the active cell

fill down in the selection _/

(C)
(D)  none of these | %
124. ¥ FoM Ctrl + R I ST T H oo A & forg fopr S e

(IA) Right align the content of cell

(B) Remove the cell contents of selected cells

(C)  Fill the selection with active cells to the right

D) TR T

The shorteut —kcy Cirl+ Ris usca in Excel to
(N) Right align the content of cell Ve
[B) Remove the ccil contents of selected cells
(C) Fill the selection with active cells to the right

(D)  Nonc of these
105, FHIE Edit >> Fill Thig aseie § fad ot afra gidl &, s

(A)  onc sheet is sclected ' (B) many sheets are selected

(C) . no sheet is selected | | (D) 'ﬁﬁ ‘ﬁ aﬁé =|3°f

The command Edit >> Fill Across- Worksheet is active only when
(A) one sheet is selected (B) many sheets are selected
(C) no sheet is sclected (D) none of these
i R TR gy o ' '
126, Frfeiiad & & P W FGN FHR iyt Series SAET S % T W A & 2
A Lincar ' |
A) . (B)  Growth
(C) Auto fill o) T |
_ ime
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Which of the following series type is not yaJ;d for Fill Series dialog box ?

(A)  Linear | @ Growth e
(C)  Auto fill (o) Time -

7. Frflia & T o ez BN Commana 1 ST e g w9 9
R E 2 | - |
(A)  Validation B  Formats
(C) Formulas D) ECL o gt
Which of the following you can paste selectively using Paste Special Command ?
(A)  Validation 4 (B) - Formats
(C)  Formulas | | (D)  All of these

128.

129.

130.

"
.......

.
.....
nnnnnnnn
------------------
------------------------------

&emﬁ@aﬁwﬁaﬁaﬂnﬁrmﬁmmaﬁﬁaﬁwmﬁvﬁﬁﬂ
FEAH DA E ? * 2

Paste Spccial allows some operation while you paste to new cell. Which of the

following operations is valid ?

(A] Squarc (B) Percentage

(C) Goal Scek R} Divide

Edit >> Deletc FHS hdl %

(A)  decletes the content of a cell (B)  deletes formats of cell

(C) dcletes the comment of cell (D) deletes selected cells

Edit >> Delete command

(A) deletes the content bf a cell (B) de_letcs formats of cell

(D) deletes selected cells  _—"

it the contcntl of selected cells you must BB, .. oiiniianis command.
0 rcmove |

(B)  Edit >> Clear >> Contents
(A) Edit >> Delete e
Data >> Delete

........................................................................................................
wrse

39 /48
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131,

133.

134.

i s & e 91 A9CE F1 & 2
What will be the output of the following line of code ?
iNLA ; A= 10; A++; cout<<A;

(A) 1.0 /[B) 11

€ o | (D) 9
mmﬁﬁﬁqﬁmﬁW#Wmscnm% 7

(A) Ctrl+N (B) . €trl+M

) Cul+s (D) ¥ § ot

Which short cut key insecrts a ncw slide in current presentation ?
(A)  Ctl+N _~ | (B) Ctrl+M

(C) Cul+S ' (D)  All of these

PRI GOl ) S t FET I |

(A) Candidate key (B) Super key

(C)  Alternate key (D) Non key

Primary key is also called

(A) Candidatc key , (B) Sﬁpcr key -

(C) Alternate key (D) Non key

ﬁmﬁ@a.ﬁﬁﬁwﬁhﬁ:aﬁnmm&rﬁwﬂémﬂfﬁq%amm»ﬁ%

(A)  Right click on the Slide Panel and choose New Slide

(B)  From Insert menu chooge New Slide

(C)  Click on New Slide bugtop on toolbar
(D) %1 9 9l
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136.

137.

207

Which of th '
¢ following methods canj 1113&11; a new slide in current presentatmn ?

(A) Right click on the Slide pane] and choose New Slide

4

(B) From Insert meny choose New Slide

(C) Click on New Slide button on toolbar

(D)  Allof these\/

Android % Ush
(A) opcrating system _ (B) . compiler
(C) editor - . (D)  interpreter

Android is a/an

. (A) operating system.~~ (B) compiler )

(C)  editor ' (D) mterpreter

Wﬁ@ﬁnﬁmmmmaﬂﬂw% ?
(A) Click the slide then press Ctrl+A and paste in new slide

(B) - From Insert Menu choose Duplicate Slide

(C) léedo évélything on a new slide that you had done on previous slide

D) T FIE T

What is the best way to create ano

slldc then press Ctrl+A and paste in new slide

sther cépy of a slide ?

(A)  Click the
I (B) From Insert Menu choose Dupllcate Shde/
everyt.hmg on a new slide that you had done on previous slide

(C) Redo
(b] None of these
Float % Teh

Float is a/an

(A)  value

©) P (D) datatype__—

operator

R e oo P
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138. %&'ﬂﬂ@mﬁﬁ e F, ﬁaﬁq@gwm? ?

From which menu you can access Picture, Test Box, Chart etc. ?

(A)  File ' (B) Edit

(C) Insert . ; (D) View _

130, ¥R L oo Y e A & R G ..., T G P G

(A]. Raw & New (B) Raw & Old

(C) 0Old & Processed. : (D) | Raw & Processed

Tefm 'Data’ refers 10 .....c-.cuis and information refers to ..........--. .

(A) Raw & New - _ (B) Raw & IOId

€ Old& — (D) | Raw & Processed

140, TAgS Aa SloH o folg

To insert slide numbers

(A) Insert a text box and select Insert >> Page Number

(B) Insert a text box and select Insert >> Number >> Page Number

(C)  Choose Insert >> Slide Number 2 F
(Dj Insert a new tcxt box and select Insert >> Slide Number
Wwﬁmsaﬁzmm%l mmﬁﬁ%ﬂﬁﬁﬁaﬁ%t
g R ﬁ Qg ? |

Right click on Sheet Tab of third sheet and choose Delete from the

141.

(4)

context menu

(B) Click on Sheet 3 and from Edit menu choose Delete

©)  (A) T (B) TR

..............................................................................

. e T L LT L L L T L T e T T T
anms T LT LEL L bbb i
TR LEE L] sEe

[ 74268 ] Set-B

Scanned with CamScanner



142,

143.
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(B) Excel

207

By defaulg Excel

Provides 3 work
sheets, You need
you delete the third one ? only two of thcm How will

(A)  Right click
ck on Sheet_Tab of third sheet and choose Celete from the

context menu

B ;
(B)  Click on Sheet 3 and from Edit menu choose Delete

\JQ)/ Both (A) and (B)

(D) None of these

ettt & 3 =i frar adbaw @ w vie g ¢ 2

(A)  "Select the sheet, then choose Edit >> Delete Sheet

(B)  Select the sheet then choose Format >> Sheet >> Hide _

© (@@

(D) 3H & i Tl

Which of the following actions removes a sheet from wo_rkbook ?

(A) Select the sheet, then choo.se Edii_ >> Delete Sheet

(B) Select the she-et ﬁuen choose Format >> She.et >> Hide
JCr~ Both (A) and (B)

(D).~ None of these

e 8 99 1 st e & ﬁmﬁﬁq@ww% ?

A) oir-cak fifid end replace within the sheet or workbook

1 does not have option to match case for find

.................
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While finding and replacing some data in Excel, which of the follow

statements is valid ?

#

(A)  You can find and replace within the sheet or workbook -
(B) - - Excel does not have option to match case for find | _
(C) Both are valid

(D) None are valid -

144, Rnun&ing errors & T&dl &

Rounding errors can occur

ula

-

(A) when you use multiplication, division, or exponentiation in a form
(B)  when you use addition and subtraction in a formula

(C)  because excel uses hidden decimal ﬁlaces in computation
' (b} - when yoﬁ show the _reéults of formulas with different decimal places that
. the calculated results
145. 39 2 g7 G A FEHA €

(A) - With the copy, paste and cut commands on the edit menu

(B)  With commands on the shortcut menu
(C)  With buttons on the standard toolbars

(o) & i
You can copy data or formulas

With the copy, paste and cut commands on the edit menu

(A)
(B) with commands on the shortcut menu
(C) With buttons on the standard t_ocﬂbars

" All of these

-------------------------------------------------------
...............

[ 74268 ] Set-B

--------------------------------------

RE-ST_GOB ----- » .............;;._;.:l.g_
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You cannot li

annot link excel worksheet data to a word document
(A) With the right drag methoq
(B)  With a hyperlink

(C)  With the copy and paste special commands

With the copy and paste buttons on the standard toolbar

147, St 3 & B w A s s S T E 2

207

Which of the following is a popular DOS based spreadsheet package ?

(A) Word | (B)  Smart cell

(C) Excel [9/ Lotus 1-2-3
148. TS UaRiel TehaH T € ' p

(A)  Workbooks (B) = Worksheets

(C) " Charts (D) Worksheets and charts

An cxcel workbook is a collection of_

(A) Workbooks .2 (B)  Worksheets

(C)  Charts (LD]/Workshects and charts

149, qﬁﬂwﬁﬂw‘!ﬂﬁﬁ.m%

Excel files have a default extension of

@A) Xs -~ [B) X
(€)WKl 1 I ¥ wi e
= WqﬁW'Format_Painteraﬂw‘Tﬁf{mﬁ‘

150. w@%ﬁﬁﬁsﬂqzﬁ?ﬁ'

Format Painte
the format painter but

x r multiple times before you turn it off by
You can use th€

(A) You can us¢€
| the format painter button _~

(B) Double clicking '
key and clicking the format painter button

(C)  Pressing the Ctr!

Alt key and clicking the format painter button

(D) ~ Pressin

--------------------------------------------------------------------------------------

--------
.....
.....
awe
ann®
.......
---------------------------------------------

ton enly one time when you click it >

------------------
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